SINNOWA 600 #/800 iF4 LA Hr gk fFS4

600 /800 % B3 AN S H

| ALT AST ALP/AKP v-GT/GGT LDH a-HBDH CK CK-MB
o ARAIRH | FARRBIR | gy | VAR g | ORI PR | e o
i B B i
EFEE
WA iE e e e e e e e e
FPK 340 340 405 405 340 340 340 340
HINES — —_ 505 —_ e 405 —_ —_
il 10—20 10—20 15—25 15—25 10—20 10—20 10—20 10—20
2P Y 500 500 700 500 1000 15000 1000 1000
A B ARSI T 4y NONE NONE NONE NONE NONE NONE NONE NONE
T SR &5 N NONE NONE NONE NONE NONE NONE NONE NONE
A RAE 1 1 0 0 0 0.8 0 0
A R E 2 2 1 0.8 0.8 2 0.6 0.6
O A i i Rl Al i i i
W F = — 160 160 160 160 160 160 160 160
W= = 40 40 40 40 40 40 40 40
HARA
I H 20 20 4 10 10 4 10 10
BT u/L U/L u/L u/L U/L U/L u/L u/L
/J\iﬁ){—i XXXX XXXX XXXX XXXX XXXX XXXX XXXX XXXX
e L A5 6 6 6 6 6 6 6 6
MiRAE I 1 1 1 1 1 1 1 1
15 G5 UE NONE NONE NONE NONE NONE NONE NONE NONE
FrifEE 1 1 1 1 1 1 1 1
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SINNOWA 600 i%#/800 iE%£ A Fw/FHSH

600 i# /800 % B3 EN TN ASH

i H a-AMY Urea Crea (L) | Crea ([ TBA CHE GLU (GOD) GLU (HK)
24 TER It JRZ JULHF JULIF EH TR JIFL Tk P il Gkl =) IR (2D
B ER
W75 BB ST B BESTR PR s 2R BB ST B BESTR 2k 2R
B3I 405 340 505 546 405 405 505 340
HINES — 660 — 660 e e —— e
ialllp=Y 10—20 8—15 7—11 30-33 15—25 6—14 30—33 30—33
e PEVu 2200 40.00 1000.0 5000.0 180.0 20000 22.00 40.00
A B ARSI T 4y NONE NONE NONE 5 NONE NONE NONE NONE
5 ARG ) 5 R NONE NONE NONE 6 NONE NONE NONE NONE
A 0 1 0 0 0 0 0 0
A EE 0.6 2 1 0.3 0.8 0.8 0.3 0.3
=Pl el R el R el R el R
A 180 160 160 160 160 160 160 160
RE W= —_ 40 40 40 40 40 40 40
HAER
RSz FH 3 2 20 10 2 2 2 2
B, u/L mmol/L umol/L umol/L umol/L u/L mmol/L mmol/L
KRS XXXX XX. XX XXX.X XXX.X XXX.X XXXX XX. XX XX. XX
FhiRE L 151 6 6 6 6 6 6 6 6
MR IE 1 1 1 1 1 1 1 1
15 G5 UE NONE NONE NONE NONE NONE NONE NONE NONE
FrfE%l 1 1 1 1 1 1 1 1
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SINNOWA 600 i%#/800 iE%£ A Fw/FHSH

600 /800 % B3 AN S H

i H CHO TG UA HDL-C LDL-C TP ALB TBIL (#E)
. — " IR RO | RS R E A X X
4 JIEL ] iz Hl = PRI - - MHEH HEH MIHL %
B ER
MR T7 7% 25k 2R 2R 2k 25k 2R 2R 4k
BV IS 505 505 505 570 570 546 620 546
HINES — 660 — 660 660 e e e
ialllp=Y 30—33 30—33 30—33 30—33 30—33 30—33 30—33 30—33
e PEVu 20.00 11.00 1500 3.00 12.00 150.0 150.0 250.0
A B ARSI T 4y NONE NONE NONE 5 5 NONE NONE NONE
5 ARG ) 5 R NONE NONE NONE 6 6 NONE NONE NONE
7 A 0 0 0 0 0 0 0 0
A EE 0.3 0.3 0.3 0.3 0.3 0.2 0.3 0.5
=Pt el R R el A R R R
A 160 160 160 160 160 200 200 200
RE W= 40 40 40 40 40 e —_
HAER
RSz FH 2 2 5 2 2 4 2 10
BT mmol/L mmol/L umol/L mmol/L mmol/L g/L g/L umol/L
NELRT XX XX XX XX XXXX XX XX XX XX XXX. X XXX. X XXX.X
FhiRE L 151l 6 6 6 6 6 6 6 6
MR AEIE 1 1 1 1 1 1 1 1
15 G5 UE NONE NONE NONE NONE NONE NONE NONE NONE
FruE4l 1 1 1 1 1 1 1 1
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SINNOWA 600 i%#/800 iE%£ A Fw/FHSH

600 /800 % B3 AN S H

| DBIL (F) TBIL (1) DBIL (41) Cl Ca Mg Fe
24 iR % JSYiEEA HEMHa % i A £ B {73
B ER
MR T7 7% 2k 2R 2R 2k 2k 2R 2R 2k
B3I 546 450 450 340 505 660 600 546
HINES — 546 546 660 e e e e
ialllp=Y 30—33 30—33 30—33 30—33 30—33 30—33 30—33 30—33
e PEVu 200.0 300 320.0 5.00 160 6.00 3.0 180
A B ARSI T 4y NONE 3 3 NONE NONE NONE NONE 3
5 ARG ) 5 R NONE 4 4 NONE NONE NONE NONE 4
A 0 0 0 0 0 0 0
A EE 0.5 0.5 0.5 0.8 0.5 1 1 0.5
=Pl el R R el A R R R
A 200 160 160 200 200 200 200 160
W= = —_ 40 40 —_ —_ —_ —_ 40
HAER
RSz FH 10 20 20 2 2 2 40
B, umol/L umol/L umol/L mmol/L mmol/L mmol/L mmol/L umol/L
KRS XXX. X XXX.X XXX.X XX XX XX XX XX. XX XX. XX XXX.X
FhiRE L 151 6 6 6 6 6 6 6
MR IE 1 1 1 1 1 1 1
15 G5 UE NONE NONE NONE NONE NONE NONE NONE NONE
FrfE%l 1 1 1 1 1 1 1
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SINNOWA 600 i%#/800 iE%£ A Fw/FHSH

600 /800 % B3 AN S H

15 H FMN APOA1 APOB PA IgA 19G IgM c3
4 AL 137 2 HIEEA AL BWIREA B [ISEHS| TIEIREN A RIEFREN G TPEIREE M M C3
L
WP AR &Nk Sk &Nk &Nk Nk Nk Z ik
B3I 546 340 340 340 340 340 340 340
B K 700 —_ —_ —_ e
iRl =) 10—20 30—33 30—33 30—33 30—33 30—33 30—33 30—33
e PEVu 6.00 2.00 2.50 800 6.00 35.00 5.00 3.00
o B AS DU 46 NONE NONE NONE NONE NONE NONE NONE NONE
5 ARG ) 5 R NONE NONE NONE NONE NONE NONE NONE NONE
A 0 0 0 0 0 0 0 0
A EE 0.3 0.3 0.3 0.2 0.2 0.2 0.2 0.4
FHEN R il %l %l il il %l %l A
A 200 180 180 150 150 150 150 150
P — 60 60 50 50 50 50 50
HAER
oz A = 10 1* 1* 2 2 2 2 2
Li¥iva mmol/L g/L g/L mg/L g/L g/L g/L g/L
B XX.XX XX.XX XX.XX XX.XX XX.XX XX, XX XX.XX XX.XX
Fke Lt 6 6 6 6 6 6 6 6
MRAEIE 1 1 1 1 1 1 1 1
15 YEDE NONE NONE NONE NONE NONE NONE NONE NONE
PR 1 5 5 5 5 5 5 5
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SINNOWA 600 i%#/800 iE%£ A Fw/FHSH

600 /800 % B3 AN S H

i H Cc4 LAP Co2 Lp(a) CRP Cys-C HCY
ik ik Ca ’“%M@ﬁ%‘ — S I 1) C R W% C R R
EiEA
WA T Y ik AT e Py Y ik Tk AT
T K 340 405 405 340 570 570 340
ENES —_ —_ —_ —_ —_ 800 —_—
N 30—33 10—20 10—20 30—33 30—33 10—25 10—20
2RV 0.8 500 40 800 150 8 42
A BRI I 4R NONE NONE NONE NONE NONE NONE NONE
i B G &5 R NONE NONE NONE NONE NONE NONE NONE
7 FRAE 0 0 0.8 0 0 0 1.0
G =Rk 0.4 0.3 2.0 0.1 0.8 1.0 2.0
AR ol Sl Wl e ol Sl Wl
i) 150 150 200 160 200 160 200
& 50 —_ —_ 40 50 40 50
BAER
e FH & 2 5 2 2 1* 2 10
B, g/L u/L mmol/L mg/L mg/L mg/L umol/L
/J\iﬁ){—i XX. XX XXXX XX. XX XX. XX XX. XX XX, XX XX. XX
HiBE E ) 6 6 6 6 6 6 6
MR IE 1 1 1 1 1 1 1
15 JeTE U NONE NONE NONE NONE NONE NONE NONE
bRES R 5 1 1 5 6 6 2
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